1. Assume [ is a differentiable function with an inverse, and also assume that
fBy=e, f13)=7.

: !
Let y= f"(e-“-‘).Find % at x= 1.
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2. Let f be a function so that /~ is continuous on the open interval (3,7) . Assume that the
linearization of f(x) at x= 4 is 2x+ 5 and the linearization of f(x) at x= 5 is 3x- 5.
Then

a) Find f{4), £(5), /'(4), and £(5).

b) Show that there exists ¢¢ (3,7) such that f'(c) =

b | n

¢) Show that there exists d'e {3,7) such that f '(d) =-2,
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3. A particle is moving on the curve y = e™" in such a way that ¥ -coordinate is increasing at

a rate of 3 cmifsec.Find the rate of change of the area of the triangle formed by the tangent
line to the curve at the location of the particle, the ¥ -axis and the ) -axis when the particle is
at the point P(2,e ?).
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4. Find an equation of the
a) horizontal tangent line(s),and
b) vertical tangent line(s)

to the curve x* +3° —9xy =0.
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5.(1+1+2+2+242+2+2+6 pts.) Consider f{x)= e 17 : 1)1 Find:
T4

a) The domain D of .
b) The ¥ -intercept:

The Y -intercept:
¢) Asymptote(s):
d) All critical points:
¢) All intervals on which f is increasing,decreasing:
f) All focal extrema:
g) All intervals on which f is concave up,concave down:
h) All points of inflection:
AND

i) Sketch the graph of ¥y = f(x).

0.) D:I’R-

p) FB(-1,0) X
P, (0, 1) "4

te rcep't
- interc e-P't




Concavye o]own.
(-—m,—-f%) a,nol
(o/ﬁ) Py and

9) +he curve 1S

on +he :'n’l"er‘Vle

jg concaVve UP orl

(-—*{3 P D) onu] (ﬁ/m>

+4he <t rve
+he intervals

h) The second derivahve chanyes
s:\am at he Fov’n'?'.s y=-V3_ X=0,
ond X= 3 . Thus each Fofﬂ”l" s a
Poin’)‘ o.f inFlech‘oa.




